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1 Factorized process w 3body/spin

Observable

Data within bounds:
(Observable) = 2.44001 £ 0.0016  [Rentries = 100000]

All data:
(Observable) = 2.44001 £ 0.0016  [Nentries = 100000]
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2 Factorized process w 2x2body/spin

Observable

Data within bounds:
(Observable) = 2.44121 £ 0.0015  [Rentries = 100000]

All data:
(Observable) = 2.44121 £ 0.0015  [Nentries = 100000]




3 Factorized process w 3body/iso

#evt /bin
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Observable

Data within bounds:
(Observable) = 2.23665 £ 0.0019  [Nentries = 100000]

All data:
(Observable) = 2.23665 £+ 0.0019  [Rengries = 100000]



4 Factorized process w 2x2body/iso

#evt /bin
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Observable

Data within bounds:
(Observable) = 2.23981 £ 0.0019  [Rentries = 100000]

All data:
(Observable) = 2.23981 £ 0.0019  [Nentries = 100000]



